R1A

Test 3; racionalna Stevila

1. Okrajsaj ulomek: (4+4)
) 22-63-8-15-(—4) b) 240z + 240y
(7 45.27-24-33 33622 — 336y

2. Izracunaj:

1 3 1\ 3
1= 422 —3—).2 = 4
a)<4+5 310> 1 (4)

Januar 2012



R1A

3. Poenostavi:

)7m+1 x+x+5
a —_ — =
6 3 6
2 2
py —.tre L

3 4z 9
c)

-4 r+2
r+3 22-9

213 2236 3019
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4. Resi neenacbo in napravi preizkus:

2r — 1
3

z—1
2

5
1> =
_6+

5. Resi enacho in napravi preizkus:

3 9

r 22—z 2x—29

Kriterij ocenjevanja:

[ ocena [ 1 [ 2 [ 3 [ 4 [ 5
[ % [10,45) [ [45,60) | [60,75) | [75,90) | [90,100] |
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